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2) You buy a plastic dart gun, and being a clever physics student you decide to do a quick
caleulation to find its maximum horizontal range. You shoot the gun straight up, and it takes

4.0 s for the dart to land back at the barrel. What is the maximum horizontal range of your
gun?
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y. (a) Draw a free-
1 for each block, showmg the force of gravity
ea e force (tension) exerted by the cord, and any
mrmal force.  (b) Apply Newton's secdnd'law to find
s for the acceleration of the system and for the
: _&emtdmtemvsofmm m,an_d-g

Oyt (OWNWRLAe A
N u‘*o—ﬂ“‘“‘r“-\" ,,a, bl
s Sy R Nl e

f Ms i N
< . LT nds by el
T T e N 3"

R TR N\ S

\"’.-'




The box shown in the Figure lies on a plane tilted

at an angle € = 25.0° to the horizontal, with a kinetic
friction coefficient y, = 0.19.

(a) Determine the acceleration of the box as it slides
down the plane.

(b) If the box starts from rest 8.15 m up the plane from
- its base, what will be the speed of the box when it

- reaches the bottom of the incline?
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